j VOCABULARY TEST | Unit 3 - Downtown

5. Mathilda enjoys living in her village. She E
thinks it is =
>
. =
1-7: For these questions, choose the A) busy <
best options to fill in the blanks. ) =
B) boring <
S
. o C) peaceful >
1. A skyscraper is than a school building.
. D) cheap
A) higher B) older
C) smaller D) stronger
6. Marta : Which one is ? Uptown or
downtown?
Nick :Downtown because it is more crowded.

A) noisier
2.
U B) cleaner
(@]
N C) healthier
a0
g - D) taller
]
O
4+’ 7. We have a guest for dinner. My sister and | are
(© the table at the moment.
=
My grandmother is at the moment. @ A) drawing
A) growing B) knitting B) setting
C) resting D) reading C) doing
D) having
3. Fruit and vegetables are very
A) crowded 8.
B) thin 1. __ 7 1.
C) sad

D) nutritious

4. There is always jam in big cities.
. Iv.
A) country —
B) street = -
C) town
D) traffic skcraper village

Which picture-word pair is WRONG?

A)l  B)Il €Il DIV




l. museum
Il. hospital

11l. school

IV. park

Choose the best title for the list above.
A) Activities

B) Daily Routines

C) Building and Places

D) Enjoyable Hobbies

10.

I love villages because they are noisy. | don't like
big cities because they are crowded. There are

many high buildings and skyscrapers in big cities.
Which underlined word is ODD?

A) noisy B) crowded

C) high D) skyscrapers

l. ride a horse

Ill. read a book

Il. play tennis IV. take a nap

Which of the following is ODD on the list above?

A)l  B)Il €Il D)IV

@ Nartest ingilizce

12.

I. make q the animals
1. ride q a horse

. water  mmmmp the flowers
IV. have s a party

Which pair is WRONG?

A)l

B) Il

il D)IV

13.

_,)/ = 5 ‘]

Which of the following DOES NOT complete the
puzzle?

A) dolphin B) chicken
C) witch D) lion
14.

and

Michael is than Raymond.

Which of the following DOES NOT complete the

blanks above?
A) shorter B) thinner

C) taller D) slimmer



